Total No. of Printed Pages—4
4 SEM FYUGP MINEDN4 -

2025

( June )

EDUCATION
{ Minor }
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Full Marks : 60
Time : 2 hours

The figures in the margin indicate full marks
for the questions

1. &R PP el o 1x6=6

Answer the following questions :

(@) Tafwe e o1 = Some 99

Mention one aim of Vedic education.

(b) IEh e o e Boae w4
Mention one merit of basic education.
fc) IR SHWE S [0 _
What is the purpose of Pabbajja
Ceremony? '

P25/1516 _ ' { Tum Over)



{d)

(e)

2. Wﬁmﬂmﬁwsﬁcﬁmﬁfaﬂ:

{2)

TROf R S, Sy ex—eo@ g fa
T P R e @B cam-@fd fora |

Write any one defect of secondary
education as pointed out by the
Secondary  Education Commission,
1952-53, '

o R <5 i 2

What is the indigenous system of
education?

BREIAS (LT SIS Www
g iR

Which Commission introduced the
‘payment by result system’ in India?

Write short notes on the following :

(@)

®

5_|5H HIZHT, Sbr3o
Charter Act, 1813

SISO R SICA, S5 u8-vud GPIE
Merits of the Indian Education
Commission, 1964-66 '

PR e e E—— -

- {d)

P25/1516

Women education in Islamlc system of
educatmn

TS TIFET BB, S535-5335

Government of India Act, 1919-1929

{ Continued )

4x4=16

(3)

3. qummwﬁwwﬁﬁmaWW|

5+4=9

Describe the curriculum and methods of

teaching during Vedic period.

e / Or

@ o e opm o snojea Ry ety 5+4=0

Write the objectives of education and

curriculum during Budghist period.

4, SKeHe ﬁﬁﬁilﬂ@ﬁ el FR(FE eS| ﬁﬂ@

e 39

Describe the educational activities of

missionaries in India.

5T/ Or

Svra8 B9 TTI fACHIIam Jo7 ~RIPTYR 7 <4 | 9

Describe the main recommendations of

Wood’s Despatch of 1854,

5. IR e we Wi fre Afe e g

ESIN

5+5=10

Describe Curzon’s policy on primary and

secondary education,.

P25/1516
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(4)

w5/ Or

frvel ReRwiem wicm, sssa@ TR W
Gl Seecd SsraTER] IR for | 5+5=10

Write the recommendations of the Calcutta
University Commission, 1917 on secondary
education and university education.

6. TAEHT PR e wivw mﬁmﬁﬁ_w oot

LI 10

Describe the constitutional provisions related
to education in India.

WW/ Or

B RFifS, Y0207 e SRR 3 2 | 10
Describe the major recommendations of
National Education Policy, 2020.

* ok
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( Early and Medieval Assam )

Full Marks : 60 -
Time : 2 hours

‘The figures in the margin indicate full marks
' for the questions :

1. STy SIS ARSTOR BT b a1 by qrere fam -
: 1x6=6

Answer the following questions in one word
or in one sentence each :

(@) =S T PR @ Al sk
Who built the Hayagriva ‘Madhava -
Temple?

(b) TERIE TRAER e @5 Ierens Wy Ko
sTfbeeag W forar)
Name the foreign traveller who visited

the Koch Kingdom during the relgn of
Maharaja Naranarayan '

P25/1449 ' _ { Turn Over )



()

(2)

e SRy qEiR e %mﬂ& 2=
wfRfeer 2 |

Which Ahom king adopted the title
‘Swarganarayan'?

(d) Tozfim wifee 95 o1 2w T & onfeer 2

(e)

2. s§<ﬁﬁﬂfﬁm &36§Rﬂ15@):

- What is the name of the book written by

Sihabuddin Talish?

Y ST G ST PR o 7

In which year was the Treaty of
Yandaboo signed?

4G ey e

What is Khat or Pam?

Write short notes on {any two) :

(a)

(b)

(c)

d

P25/1449

25 PR RS T

Literary source of ancient Assam

RIeEl

Bato-Bhuyan
A Ta
Battle of Alaboi
*ET 249

Posa system

{ Continued }

5x2=10

(3)

SR T IR A i |

3. 11
Give an account of the re1gn of Bhaskar
Varman.

Y/ Or
IO S LA TR TS I TIoFR . -
Ireres ARRS cae e, fore
Write about the political condition of
Brahmaputra Valley at the time of the advent
of the Ahoms.

4. FEEA TCEIEA $ITS GRD AT 4 | 11
Narrate briefly about the reign of
Suhungmung. .

A/ 0r
TR P SGHI IR SF T (A 90
Describe the causes and result of the
~ Assam invasion of Mirjumla. -

5. ﬁ$aﬁﬁivmcﬂﬂEMFVﬁavﬁkaéamﬂwm%ﬂ|”

A1 11
“Rudra Singha was the greatest king of Ahom
Dynasty.” Discuss.

P25/1449 { Turn Over )



(4)

Wmmﬁmﬁwrawmwaw

Discuss the éauses of the First Moamoria
Rebellion,

6. T AUR e b Rl Brwr 1 11
Write a note on the Paik system.
1/ Or

e W feER =TS e Tk ey

Write about the relation of Ahom Kingdom |
with Manipur and Tripura. :

ek
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The figures in the margin indicate Jull marks
for the questtons

:l(ﬁ)wﬁmﬁw‘iﬁmvﬂ#aﬁﬁﬁsﬂw

| AT SRR ¢ 38

() EmE PR o IR ogd Gt G
fordr 1 | | |

1 (F) ﬂﬁﬁ%ﬁﬂﬁ“ﬂﬁﬂﬁ%@am?@’a

-Twﬂ'wasﬁsﬂhwﬂﬂw «f5 5 SR
’{WWI  a+9=38

P25/1443 - - (TurnOver)



P25/1443

(2)

2!

(1) T TR T e f e o e

P s et T | . a+q=

ol (I) THPHIE WY SEPIN SISEER ‘e’

IROTS (AP A oAIRCR, SCEAG T |
e

(q) TP AR 57 AR SR TR
FROCER TE Se=q wREY @ a7

“AfEgs, fordt | ' g+a=

81 (%) ST TEA AEAR R A9
RAGAS o ARRF e SRelfid

TRWS Wyfe TerelR B T AR T
'Wwﬁ@_m,'w_ﬁ| Y43y

L]

>8

33

Y

33

(X) oY (Ol ot Yho=33

Y W@?Wﬁ’mﬁﬁ@l
X1 AR TR #fiT Ser ofewi

{ Continued )

e oY e

P25—6000/1443

(3)

(¥) “arrE IR A4 B @2

() R wwﬁﬁﬁwmﬁt AT
afeE?

(o) “‘voEw FEAZ FoeE R (-
(TR fRare Wiedl ey oF;
e fRaf =4 TSR T T4
- SR S R AW 17

FRASRPS FRTAR @FH 2

(@) T A R ?ﬁ@’{@ﬂﬂ??ﬁﬂl@

AT ?
(8) “wivcFer’ 379 @ 2

(v) “9FIE TR FE 7 Wmfi—fwwﬁ’r
b1 w11 FRfer 2 |

(=) TEw B AR TS (T
(w) R <IHRA @47 IR T i o

LG

dXbr=tr
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POLITICAL: SCIENCE
( Minor )
Paper : MINPSC4
{ Comparative Government and Politics )
| Full Marks : 60
Time : 2 hours

The ﬁgures in the margin mdwate fu!l marks
: for the questzons :

1. w5 Tes R %i%r@ :
Choose the correct answer :

(@) T AT Pre 3R I T w2

Who is known as' the  father of
Comparative Politics?

(i) aRE'5A1 / Aristotle -
(@) 26’ / Plato
it} vowibE / Socrates
fiv) Cﬂﬁﬁﬂt‘ﬁ / Machiavelli
(b) WWT/EW/W/%
CPTS Ik |

Single- party system is there in India /
England / Russia / China.

P25/1548

1x6=6

{ Turn Over)



(2)

(c) SR T8 w1 IW fowdn oar® / cvdy
YN / I AN / PR g 7w |

USA is known for Biparty system /
Single-party system [/ Multi- -party
system / No party system.

(d) SweEn iema Wt e sRte Tem wmw

Rebate / omee / Wi Teags / TR

' The ‘Mother of ail Parliaments’ is the

~ Parliament of Britain / India / USA /
France.

() FaFRe oo wee @R oMo T

IR (Plural Executive) 39 229 $R0= 2

Which of the . following countries
possesses a Plural Executive? :

(i) SCIRFT TEI8 / USA
(i) TC"e / UK
(i) R¥EECEIe [ Switzerland
fiv) T / Russia o
() ERE ITE W SR WA AR
AR (Fic WA 7 2

In USA and India, judges of the Supreme
Court are appointed by

1] ﬁm@ / The Prime Mm1ster
(i) ST/ The Cabinet

(i) IS / The President

fiv) APM / The P-é_rliamer.zt. :

P25/1548 { Continued )

2.

(3)

TerS (AR €oRS B (Ol o (AfSeht a0 ey
$oI9) : _ 3x3=9
Write short notes on the following (within
150 words each) :

(a) L Al griEfaEe

The relevance of comparative politics

(B) TR TSN WA el

Eurocentrism in comparative politics
fc) SRR Risa o '

Forms of colonialism

W Rey e g e ol e
AR FRECT ARG >RACAISI SI=Cer | 9

Critically examine the nature and scope of
comparative politics as a subject of study. -

3=/ Or
ﬁwm%?mwwmw
ANLITTLZ SCAGA! 3 | 0 3+6=9

What is Institutionalism? - Distinguish
between Old and New Insututlonahsms

T R g

Explain the orlgm and development of
capitalism.

W/Or . : :
ST RErre wfdzar SRl ﬁ‘ﬁﬂ m
f4aeg wngemsar 4 |

Discuss the various factors that led to the
growth of socialism. :

P25/1548 . " { Turn Over )



(4)

5. f@ﬁﬁaﬂ@aﬁmww@—qﬁr%mﬁzqu
eifern sieafoe Cafer, 3o | 9

Give an account of the process of
decolonization in Asia and Africa in the

20th Century. :
%1/ Or

BRI 1 CARBRTR ST 9 |

Discuss the basic features of colonialism.

6. @@WWWWWW
9T ToWEE R SeRCERI ! | 9

Write a comparative analysis of the. political
economy of Great Britain and the USA. -

. - wW&=r/or .
b R e I g e IRER G
S 4T '

Compare the party system of the UK and
the USA.

7. Wm@mﬁwﬁm @ G TgS T 9

Write a note on the constitutional
development of Brazil. -

%/ Or

%wwﬁwwm%w:

Make and attempt to highlight the major
provisions of the Constitution of People s
Repubhc of China.

* % ke
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ECONOMICS
( Minor )
Paper : MINECO4
( Mathematical Methods for Economics )
Full Marks : 60
Time : 2 hours
The figures in the margin indicate full marks
Jor the questions
1. oo7e frRaRe Roriik Te i 1x8=8 .
Answer the following as directed :
(a) aﬁw%wo:f(mmwm@
oIfEwR v fefemreer e sacht fora |

For a given demand function Q= f(P),
write the formula of calculating price
elasticity of demand using the technique
of differentiation.

(b) j%;;—)dxz? |

fc) T SEFIUH WT ( TYF 9

State whether the following equation is
True or False : :

[Progde=—[*f(gax
o b

P25/1547 { Tumn Over )



(2}

10
@ A=[0 Jt‘maﬁ

1 0].
A=[O 1:|1sa/an

fi) s GF / scalar matrix
fii) 34 xhw / diagonal matrix
fiii) 4% (GH / identity matrix

fiv) S°¥9 SGREF25! / All of the above
(wm TeTh! AR Thren)

(Choose the correct answer)

(e) lim 10 -6x+x%3 I 23z

x—32
The value of lim 10-6x+x2 is
6 10 @2
fii) 5 : fiv) O
(wm TeTeh! e Bhyen)

{Choose the correct answer)

(H Az w2fE AS m RGP T B B n
WGF AW AP, (O REAOTA  FTH
e @R R |
How many numbers of ordered pa_irs' will

be there for two sets A and B having m
and n numbers of elements respectively?

P25/1547  (Continued )

(3)

() P T TR oS TR S R w2

What does second-order differentiation
“of the total cost function indicate?

() 3x3 iar < sweffe e Srmae f o

Give example of ‘a 3x3 symmetrical
matrix. .

2. woq R @i bt oo Tex forgr - 4x3=12

Answer any three of the folIowing questions ;

{a) wwﬁfﬁa—liﬁmﬁsqmvwﬁﬁmwﬁ
CICTT BT CaMEs fara o
What do you understand by continuity
of a function? Write any two properties
of continuous function.

(b) Pl iz Frar |

Write the p'roperties of determinant.

(¢} T I AT AT IRT VoW T oREe
SRS (Rl |
Show the relation between average cost

and marginal cost with the help of
differentiation.

fa) fitve eream wfafer  smn o @b
G )

Write a note about economic apphcanon
of definite integral.

P25/1547 { Turn Over )



(4 (5

. . 2 1 '
fe) ﬁf‘wmwf%wasﬁ @ M A=[4 3] IC i
| 5 dxd ' s
{“2' 'B:% . 2,m=iemch“1=B.
T e | L - | 8
Using the rule of substitution, find If matrix A =|:i ;’] and matrix
[ 4T3 -1 o
(x+2) _ . B== , show that A~ =B.
. ' 2[4 2]
3. T a7 72RO (a) I2oW oW, (bmﬁmww : : 3 2 2 -2
(c) sF e e e 3+3+2=8 fi) A=, , B = | | s
Write about (@) polynomial function, ' . qqCE 999 P9 A AB = BA. | ' 3
{b) rational function and (¢} constant functlon _ . Prove that AB = BA for the matrices
te di - ' ' 3 2 2. 2
using appropr:a e diagram. | | o A [ :! and B =[ ; 3]
B - w3/ Or . . '
famr sice (given) ' ' S . &4 / Or
={12,3,4}, B={2,4,6,8} and C={3,4,5,6} . &) ) @Wﬁfﬁﬁ AT T TIRAR SRS
s S | : 2
SO R (9) R, : Analyze the concept of rank of a
(b) Ream f[{fg wire (o) & waeas (g of B . : matrix with appropriate example.
3+3+2=8 @ v Y IR IR R e
Prove that the above sets satisfy (a) associate SRR RFD] AN 9 N
law, (b) distributive law and {c) De Morgan’s ' Solve the following linear
law. ' : simultaneous  equations  using
_ - Cramer’s rule : :
4. (0) ) @ G aleR dfee G ERmE | | 2x+3y =10, 3x +8y =20
R A 56 o ! 2 5. (a) () ORGSR EES 0 9N (AR), 6T W@
Write the necessary condition for (MR)WW@P’E"W’I (ey) T 3o
existence of inverse of a matrix. o . I 9 4

P25/1547 | | (Continued) ~  P25/1547 o { Turn Over )



(@

(b) (i)

(6)

Derive the relation between average
revenue {AR), marginal revenue {MR)
and elasticity of demand (e;) with
the help of differentiation.

TRl =R 9Bl 7 ARG P =100 - 20,
Q=10 @ w=Fe ofEre Rfewerrs
ST N | AT FIACBA TS TR T5G

e - 3+1=4

Given a price equation P =100 -20Q,
find elasticity of demand when
Q =10. Also comment on the nature

of the commodity.

=/ Or
fre e @Bt P I TAR
TC =10000 +100Q — 1002 +lo3

WWW%WWWW'

Teofws B9 O e F41 | : &

Given the total cost function
TC = 10000 +100Q — 10Q2+ Q3
'F1r1d the level of output Q where

marginal cost is equal to average
variable cost.

i) Taa1 =ice, <6 Tegsre Fom

P25/1547

5000
3+Y

Y =97 (29 S1E¥S e Togels
FRqe (MPC) fidfes <41 e omE
s Ao MPCT  ARRedey i
e _ 3+1=4

C =1000 -

{ Continued )

(7)

Given the consumption function

C= 1000—1:5000
3+Y
Find marginal propen31ty to
consume (MPC) when income
Y =97. Also find the direction of
change in MPC with change in
income.

6. {a) ﬂﬂﬁﬂﬂﬁwmwﬁﬂ_ﬁﬂmﬁ

7.

{b}

(e

P25/1547

TN P47 -

Evaluate the followmg using integration
by parts method :

Jxlogxdx
L/ Or
fran =ice Aifes e ggsl MPS = 1~%?{
Y

y@ = ot #fee | sTele @ Tom FdfRer
91| PR, TR TR U W 144 (2 SEES
NS I =

Given the marginal propensity to save

0.
function MPS=1- 02 where y denotes

VU

income, find the aggregate saving
function. It is also given that aggregate
saving is zero when income is 144.

G T wge oW wew Q=50-2P, W
P= 2omw%m%'a—ﬁw-
41 |

Given the demand function
Qg =50-2P, find consumer’s
surplus when price is 20.

{ Tum Over }



(8)

fi) fr SmE @EF e Q= ~3+2p
P =6 @F SHF© TR S5 em:n.
EaIN 4
Given the supply function
Q=-3+2P, find producer’s surplus
when price is 6. :

&=/ Or

(b) () Tem CR A% SR T MR =20 - Q, (R
FH 109 *_1 20 @9 3% T P ouns
“ffgé frefg zvar ) 3
Given the marginal revenue
function MR =20-0Q, find out the
change in total revenue when Q
increases from 10 to 20.

i) fran =

MPC—O—4—

vy
T y F WY o ST | g 1447 o
256 7 ﬁiﬁﬂmﬁﬁ%ﬂmﬂzﬁﬁaﬁ
SRRl 5

0-4 C
Given MPC = —\/:, where y denotes
y
income, find the change in aggregate
consumption, when income changes
from 144 to 256. '

ko
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